ST-XII

SUBJECT : ENGLISH (SET-1)

Time : 3 hrs.
General Instructions :

(i)
(ii)
(ifi)
(iv)

Ql.

All questions are compulsory.
You may attempt any section at a time.

All questions of that particular section must be attempted in the correct order.

Avoid cutting and overwriting.

SECTION-A (READING)

Read the poem given below :

[ DREAMD that as 1 wander'd by the way

Bare winter suddenly was changed to Spring,

And gentle odours led my sieps asiray,

Mix'd with a sound of waters murmuring

Along a shelving bank of turf, which lay

Under a copse, and hardly dared (o [ling

Its green arms round the bosom of the stream,

But kiss'd it and then fled, as Thou mightest in dream.

There grew pied wind-flowers and violets,

Daisies, those pearl'd Arcturi of the earth,

The constellated flower that never sets;

Faint oxlips; tender bluebells, at whose birth

The sod scarce heaved; and that tall flower that wets -
Like a child, half in tenderness and mirth -

Its mother's face with heaven-collected tears,

When the low wind, its playmate’s voice, it hears.

And in the warm hedge grew lush eglantine,
Green cow-bind and the moonlight-colour'd May,
And cherry-blossoms, and white cups, whose wine
Was the bright dew yet drain'd not by the day:
And wild roses, and ivy serpentine

With its dark buds and leaves, wandering astray;
And flowers azure, black, and streak’d with gold,
Fairer than any waken'd eyes behold.

And nearer to the river's trembling edge

There grew broad flag-flowers, purple prank'd with white.

And starry river-buds among the sedge,

And floating water-lilies. broad and bright,
Which lit the oak that overhung the hedge

With moonlight beams of their own watery light;
And bulrushes, and reeds of such deep green
As soothed the dazzled eye with sober sheen.

Methought that of these visionary flowers
I made a nosegay, bound in such a way
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That the same hues, which in their natural bowers 35

Were mingled or opposed, the like array

Kept these imprison'd children of the Hours

Within my hand, = and then, clate and gay,

I hasten'd to the spot whence [ had come

That I might there present it - O! to Whom? 40
— P.B. Shelley

On the basis of your understanding of the above poem, answer each of the questions given below

with the help of the options that follow : (1x4=4)
(a) The poet had dreamt that :
()  bare summer had given way to spring (i)  spring suddenly changed to winter
(ii) summer and winter were together (ivi bare winter had changed to spring

(b)  The poet had wandered in his dream
(i) on to a bank of turf

(i)  under the river
(i) under a copse round the bosom of the siream
(iv) inlo a dream

(¢)  What the poet saw growing along the banks were

(i)  avariety of flowers (i)  a variety of cows

(if)  his [air eyes awakened (iv) a dazzling of sunshine
()  The poet imagined that

(i)  kept the flowers as a gift

(i) made the flowers into a nosegay

(i) the flowers present themselves

(iv) the llowers were opposed to one another
Answer the following ¢uestions briefly : (1x6=6)
(e) Where was the poet led in his dream?
()  Describe two characterisiics of the copse.
(#) What was growing in the hedge?
(h) What llowers grew close to the river's edge?
(1) Why did the bulrushes soothe the eye?
()  Why had the poet hastened back to the spot from where he had come?

(k) Find words from the passage which mean the same as each of the following : (1x2=2)
()  earth (verse 2) (h)  blue (verse 3)
Read the passage given below: (10)

In business, the value of having a mentor is well established. Many companies also have internal
mentorship programmes so that young professionals in the company can learn from the veterans
in their midst.

Despite this acceptance of the necessity of mentorship, creative mentorships are far harder to
come by than seems possible. Though India has had a long history of such mentoring, through the
guru-shishya parampara prevalent in the arts and crafts learning system in India, the dynamies of
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the system is heavily dependent on the whims of the guru or mentor. These people have ranged
from strict disciplinarians demanding complete subservience to others who are lackadalsical and
unmindful of their responsibilities.

To give this anctent tradition a modern twist, the internationally famed waich making company
Rolex has initiated the Rolex Mentor and Protégé Arts Intransitive. The Geneva based [irm seeks
out gifted young artists from around the world and brings them together with geiablish mentors
and maestros in their field, for a year of creative mentoring and collaboration on a one-to-one
basis. So far, wo Indlan mentors have been chosen to guide potential talent among the youth. The
internationally renowned sculptor Anish Kapoor and film maker Mira Nair are the two Indians who
are currently directing youngsiers In their chosen fields. Sadly, they have no Indian proteges so
far. '

The preteges for this seheime are selected by International nominating companies and many of the
duos for this programine do not even come from the same continent, or have a common language.
This year's prosramme which culminated in Mexico City, included the Swiss architect Peter Zumthor
and a young Paraguan, Gloria Cabral. Though both of them did not speak the same languagc, they
were hoth engaged in work on a tea chapel in South Korea.

When asked about her mentor, Gloria said that a good mentor was someone who not only provided
academic knowledge but also guided and inspired one to something which one might not éven
know could be done. Recipients from the previous years, too expressed similar thoughts, Israeli
direcior Tom Shoval said he had never even dreamt of getting a chance to work with Oscar Award
winning director Algjandro Gonzales Inarritu of ‘Birdman’ fame. He recalls how his menior took
him to the Canadian Rockies to see [irsthand the ereative process behind his new [l “The Revenant’,

Commenting on the experience Shoval said : ‘The visit to the set of ‘The Revenant' has been the
best cinema school, hecause one could see how Alejandro builds a shot, choreographs and moves
all the elements and creates a complex and emotional peak in every frame’,

According (o the company the aim behind starting such a project was to fill the vacuum that exists
in arts philanthropy. Making it global and ensuring that the initiative was not confined to one form
of art. the company has been able to serve the arts through many diseiplines. Also such initiatives
exerted Interaction between various artistic disclplines by encouraging various artists Lo inferact
between artistic disciplines.
Having selected the maestros, a global search is now under way to find suitable protégés for them.
Each mentor is also given the opportunity to suggest his nominee [rom among a list of finalists
made by the organizers. Once chosen, cvery prolégt Is given a grant of 25,000 Swiss francs during
the mentoring year. In addition he or she is also glven [unds for travelling and other major expenses.
Thus the new Inltlative has become an exciting way of conneeting between the talented youth and
the seasoned practitioner through as Interactive platiorm.
On the basis of your understanding of the above passage complete the statements given below with
the help of option that follow : (1x2=3)
{a) Companies have inlernal mentorship programmes

(i)  so that young professionals can learn from veterans

(i) as the company has a fair mix of talent

{11) to propagate their philanthropic programme

{iv) to link with the rest of the world
(b) The global scarch is now under way to J

() find placements for the young (if) [ind prottges

(i) locate projects to engage the young (iv) advertise their walchies
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Q5.

Q6.

Q7.

— — — — — ~—4 AR

“No", he replied, “I represented the Hindu religion at the Parliament of Religions held at Chicago in

1893. Since then I have been travelling and lecturing in the United Staies. The American people

have proved most interested audiences and sympathetic friends, and my work there has to take

root that I must shortly return (o (hat country”,

“And whal s your attitude towards the western religions, Swami"?

‘I propound a philosophy which can serve as g basic to every possible religious system in the

world. and my attitude towards all of them is one of extreme sympathy - my teaching is antagonistic

to none. I direct my attention to the Individual, to make him strong, to teach him that he himself js

divine, and I call upon men to make themselves conscious ol this divinity within. That is really the

ideal-conscious or unconscious - of every religion”,

(@) On the basis of vour reading of the passage make notes on it, using headings, sub
headings and commonly recognized abbreviations (minimum 4). Also supply a suitable title

to the passage. (5)
(b)  Based on your notes, write a summary of the passage in around 80 words, (3)
SECTION-B (ADVANCED WRITING SKILLS) (30 marks)

Army Wives Welfare Association (AWWA) is organizing a Ghiazal Night by renowned artist Ghulam
All in the coming month. As the President of the association invite all the members and their
families for the event, (50 words) (4)

OR

‘Down to Barth' is a fortnightly environmental awareness magazine which is offering a 20 percent
discount as well as a gift on an annual subscription. Draft an advertisement for (he same in about
50 words.
Write a letter to the Police Commissioner (Traffic) complaining about the inadequate parking facilities
in the Commercial Street area of Bengaluru, which Is causing a lot of inconvenience to the people.
Also. talk about the suggestions you would like to glve Lo Improve the situation. You are Rakesh/
Radhika Garg of House no. 12, Jayanagar, Bengaluru, (6)
OR
You are Nalini/Vishal Raheja, Hostel Warden, Zenith Public School, Kosikalan. Write a lelier to The
Sales Manager, Bharat Electronics and Domestic Appliances Limited, Kostkalan, placing an order
lor a few things that you wish to purchase for the hostel. Also ask for the discount permissible an
the purchase,
There Is a growing trend among the youth (o participate in adventurous activitics, Write an article
in 150-200 words for your school magazine on why you would prefer (o have an adventurous life.
(10)
OR

You are Sanjay/Sanjana. a student of DRM Senior Secondary School, Delhi, You have read the
news about the inhuman treatment meted out to the new entrants by the seniors in ecducational
institutions. You are shocked to read it, Write an article in 150-200 words on “The Evil of Ragging
in Educational Institutions’ to be published in “The Times of India’, Delhi.

‘The poliey of reservations of seats for admission to the professional courses is good for (he deprived
scctions of soclety’, Write a debate in 150-200 words either for or against the motion. (10)
OR
You were shocked to know the fact that India has the largest number of child workers in the world.
As Arun/Anju, write a speech for morning assembly on topic ‘Child Labour - a Curse on Childhood',

(150-200 words)
(G-5)



SECTION-C (LITERATURE AND LONG READING TEXT) (40 marks)

Q8. Read the extract given below and answer the questions that [ollow :

Aunt Jennifer's fingers fluttering through her wool
Find even the tvory needle hard to pull

The massive weight of Uncle's wedding band

Sits heavily upon Aunt Jennifer's hand.

()  What does uncle's wedding hand symbolize? How does It allcet Aunt Jennifer?
() What are the signs of Aunt's Jenniler's frailty?
(i) Which paradox the poct refers to in the poem ‘Aunt Jennifer's Tigers™?

OR

Belled, flowery, Tyrolese valley. Open - handed map
Awarding the world its world, And yet, for these
Children. these windows, not this map. their world,
Where all the future’s painted with a fog.
A narrow street sealed in with a lead sky
Far far from rivers, capes, and stars of words.
) What does the map on the wall show?
(i) For thesc children, why is this map not their world?
Q9. Answer any FOUR of the following in 30-40 words cach
() Do you think Pablo Neruda advocates total inactivity and death? Why/why not?
(i) “We've all got a great deal to reproach ourselves with”, said M. Hamel. Comment.

(4)

2)
(2)

(3x4=12)

(i) How did Dr. Sadao ensure that ithe American sailor left his house bul he himselfl remained

safe and secure?
(iy) What was the Dewan’s liger likke? How did he take it into the forest?
(v How does Mr. Lamb Keep himself busy when it is a bit cool?
(vi) Is Saheb happy working at the tea stall? Why/why not?
Q10. Answer the following in 120-150 words !

(6)

Why did the iron master's invilation to the peddler to spend Chrlstmas Eve with him make him

think that he was going to fall into a trap?
onR
Contrast Sophie's world with her fantasies.
Q11. Answer the following in 120-150 words :

(6)

How have class distinctions and the indignities heaped upon the oppressed classes been brought

out In the childhood accounts of Zitkala-Sa and Bama?
' OR

What lapses on the part of the police and {he prison authorities helped Evans to escape from the

prison?
Q12. Justily the title ‘The Strange Man's Arrival'. (120-150 words)

(6)

Q13. Everyone who comes in contact with Griffln suffers. Attempt & character gketch of Griffin in the

light of this remark, (120- 1650 words)
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Q.7

Q.8

How are vitamins classified? Name the vitamin responsiblé

for the coagulation of bloed.

How do antiseptics differ from disinfectants? Give one
example for each.
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SUBJECT : COMPUTER SCIENCE (SET-I)

Time : 3 Hrs. M.M.: 70
General Instructions :

(i)  All questions are compulsory

(i) Programming Langudge : C++

Ql. (a)
(b)

()

(d)

What is abstraction? Explain with an example.  (2)

Which C++ header file(s) will be included to run/
execute the following C++ code? (1)

void main( )

[ intLast = 26.5698742658;
couteesetw(5)<<setprecision(9)<<Last;

|

Deepa has just started working as a programmer in
STAR SOFTWARE company. In the company she has
got her first assignment to be done using a C++
function to find the smallest number out of a given
set of numbers stored in a one-dimenslonal array.
But she has committed some logical mistakes while
writing the code and is not getting the desired result.
Rewrite the correct code underlining the corrections
done. Do not add any additional statements in the
corrected code. (2)
int find (int al 1, int n)

(ints=a [0]:

for (int x=1; X<n; X+4)

if (a[x]>s)

alx]=s;

}

Find and write the output of the followlng C++
program code : (Note : Assume all required header
files are already included in the program). (2)
typedel char STRING [80]:

vold MIXITNOW(STRING S)

i

for (int Size=0; S[Sizell="\0"; Size++);

(1)



(€)

for (int 1=0; 1<Size-1; [+=2)

{

char WS=5[1]:
S(1=S(1+11;
SlI+11=WS,

}

for (1=1; 1<Size; 1+=2)

i (S=M && S[l)«="U)
Sil=""%

}

void main()

|

STRING Word=“CRACKAJ ACK™
MIXITNOW(Wo rd);
cout-c;a:Wordccendl;

1

write the output of the following C++ program code:
(Note : Assume all required header files are already
being included in the program). )]
class Cale

{

char Grade; »

int Bonus,

public:

Cale( ) {Grade = ‘£ Bonus = 0:)

void Down (int G)

‘ :

Grade—=G:

}
void Uplint Q)

Grade+=G;
Bonus++;

|
void Show()
l| P

cuut<<Grade-:{'#“<<Bnnus<-:endi;

'l

(2)




(f

5

void main()

{

CalecC. Ix;

C.Down(2);

C.Show();

D.Show():

C.Up(7);

D.Up(2):

C.Show();

D.Show();

D.Down(3);

C.Up(7);

C.Show( ):

C.Down(2);

C.Show( ):

D.Show( );

|

Study the following program and select the possible
output(s) from the oplions () to (iv) following it. Also,
write the maximum and the minimum values that
can be assigned to the variable NUM. (2)

Nole :

- Assume all required header files are already
being included in the program.
- random(n) function generates an integer
between Oand n- 1.
void main( )
{
randomize( );
int NUM:
NUMs=random{3)+2:
char TEXT| |="ABCDEFGHIJK":
for (int I=1; I<=NUM; I++)
[
for (int J=NUM: J<=7; J++)
cout<<TEXT{J

(3)



Q2.

(a)

(b)

coute<end]:

(i)  FGHI (i) FEFGH
FGHI EFGH
FGHI EFGH
FGHI EFGH

(i) BCDEFGH (v} CDEFGH
BCDEFGH CDEFGH

What is a copy constructor? Give a Suitable example
In C++ to illustrate with its definition within a class
and a declaration of an object with the helpofit. (2)

Observe the following C++ code and answer the
questions (i) and (i) : (2)
class Traveller

I

long PNR;

char TName[20):

public :

Traveller( ) / /Function 1

{ cout<<"Ready"<<end1;)

void Book(long P, char N[ ]) //Function 2

{PNR=P: strepy(TName, N);)

vold Print() / /Function 3

[ cout<<PNR<<TName<<end | A

~Traveller() //Function 4

{coutc«c“Bookjng cancelled!"<<endl;)

-

(i)  Fillin the blank statements in Line 1 and Line
2 to execute Function 2 and Function 3
respectively in the following code ;
vold main()

{
Traveller T:

//Line 1
//Ling 2

(4)




(c)

(d)

|/ /Stops here
(i) Which function will be executed at }//Slops
here? What is the function referred as?
Write the definition of a class PICIn C++ with following
description ; (4)

Private Members

- Pno//Data member for Pleture Number (an
integer)

- Category//Data member for Picture Category (a
string)

_ Location//Data member for Exhibition Location
(a string)

_ FixLocation( )//A member function to assign
Exhibition Location as per category
//as shown in the following table

Category Location
Classic Delhi
Modern Mumbai
Antique Kolkata
Public Members

- Enter()//A funciion to allow user to enter values
/ /Pno, category and call FixLocation() function

- SeeAll( )//A function (0 display all the data
members

Answer the questions (i) to (iv) baged on the {ollowing:
(4)

class Exterior

{

int Orderld:

char Address(20];

protected :

float Advance:

public:

Exterior( ):

void Book( ); void View();

)

class Paint:public Exterior

{

(5)



Q3.

(a)

(b)

int WallArea, ColorCode;

protected :

char Type;

public :

Paint();

void PBook( );

void PView( );

h

class Bill ; public Paint

(

float Charges:

void Calculate( );

public :

Bill( ):

void Billing( );

void Print( ):

-

()  Which type of Inheritance out of the following
s illustrated in the above example?
- Single Level Inheritance
_ Mulit Level Inheritance
— Multiple Inheritance

(i) Write the names of all the data members, which
are directly accessible from the member
functions of class Palnt.

(i) Write the names of all the member functions,
which are directly accessible from an object of
class Bill.

(lv) What will be the order of execution of the
constructors and destructors, when an object
of class Blll is declared?

An double array Al30][40] is stored along the column
in the memory. If the element A[20][25] is stored at
50000, find out the location of A[25](30]. (3)
Write the definition of functions for the linked
implemented queue containing passenger information
as [ollows @ (4)

(6)




Q4.

(©)

(d)

(e)

struct NODE
{ IntTIcketno:
char PName|[20]:
NODE * NEXT;
b
class Queueofbus
{ NODE *Rear, *Front,;
public :
Queueolbus()
| Rear = NULL;
Front = NULL: )
void Insert():
void Deleie( );
~Queueofbus()
| cout<<"Object destroyed”:|
L
Write a function in C++ TWOTOONE() which accepts
two array X| ], Y[ | and their size n as argument.
Both the arrays X[ | and Y[ | have the same number
of elements. Transfer the content from two arrays
X[ ). Y[ ] to array Z[ ]. The even places (0, 2, 4...) of
array Z[ | should get the contents [rom the array X[ |
and odd places (1, 3, 5...) of array Z[ | should get the
contents from the array Y[ . (3)

Write a function NewMAT (int A[] [ ], int r. inf ¢) in
C++, which accepts a 2d array of integer and its size
as parameters divide all those array elements by 6
which are not in the range 60 to 600 (both values
inclusive) in the 2d Array. ] (2)
Evaluate the following postfix expression using stack
and show the contents alter execution of each
Operations : 470, 5,4, 2, 25, /. 6, %, + (2)
Observe the program segment given below carefully
and fill the blanks marked statement 1 and
statement 2. (1)
class PracFile

{ int Pracno;

@



()

char PracName| 20];
int TimeTaken;

int Marks;

publie ;

void EnterPrac( );/ /function to enter PracFile details
vold ShowPrac( ): / /function io display PracFile details
int RTime( )/ /function to return TimeTaken

{ return TimeTaken;)

void Assignmarks (int M)/ /funetion to assign Marks
{ Marks = M)

k

void AllocateMarks( )

| [stream File;

File.open (“MARKS.DAT", ios::binarylios::injios::out):
PracFile P:

int Record = 0:

while (File read((char*) &P, sizeof(P)))

[

if (P.RTime( )>50)

P.Assignmarks(0)

else

P.Assignmarks(10)

-— [ /statement |
/ /statement 2

Record++:
|
File.close():

|

If the function AllocateMarks() is supposed to Allocate
Marks for the records in the file MARKS.DAT based
on their value of the member TimeTaken. Wriie C++
statements for the statement | and statement 2,
where, statement 1 i required to position the file
wrlte pointer to an appropriate place in the file and
statement 2 is to perform the write operation with
the modified recore.

Given a binary file “BUS.DAT", containing records of
the following class bus type. (2

h

(8)




(c)

Q5. (a)

(b)

class bus
[ Int bus_no;
char desc[40];
int distanece; //in km
public ;
vold read()
[ cin>>bus_no; gets(desc): cin>>distance: |
void display( )
[ coute<bus_no; puts(desc); cout<<distance: |
int retdist( )
[ return distance; |
8
Write a function in C++ that would read the contents
of file “BUS.DAT” and display the details of those
buses which travels the distance more than 100 km.
Write a funetion RevText( ) to read a text file
“Input.xt” and Print only word starting with T in
reverse order. (2)
Example : If value In text file is : INDIA IS MY
COUNTRY
Output will be : AIDNI SI MY COUNTRY
What do you understand by the terms Alternate key
and Foreign Key of a relation? (2)
Consider the following table Organisation and
Grossincome and answer (1) and (II) part of the
question :

Table : ORGANISATION

ECODE

NAME

POST

DOJ

DOB

2001

AJAY

GENERAL MANAGER

SGRADH]
D003

23-Mar-2003

13-Jan-1980

VIJAY

EXECUTIVE MANAGER

D002

12-Feb-2010

232-Jul-1987

2003

DEPUTY MANAGER

D003

24-Jan-2000

24-Feb-1983

2004

PROD. INCHARGE

Do02

11-Aug-2006

03-Mar-1984

2005

ABBAS

ADD, GENERAL MANAGER

D001

33-Dec-2004

19-Jan-19832

(@)




Q6.

(@)

Table : GROSSINCOME

SGRADE |  SALARY HRA
DOO1 56000 18000
D002 32000 12000
D003 24000 8000

() Write SQL commands for the following
statements (4)

(i)

(1)

(i)

(iv)

To display the details of all MEMBERS
OF ORGANISATION in descending order
of DOJ.

To display NAME and POST of those
MEMBERS whose SGRADE is either
D002 or DOO3.

To display the content of all the
ORGANISATION table, whose DOJ is in
between 09-Feb-2006 and 08-Aug-2000,
To add a new row with the following :
2007, ‘RUDRA’, 'SALES INCHARGE',
‘D002, '26-Sep-2011", ‘26-Sep-1983'

(Il Give the output of the following SQL queries :

()

(i)

(iid)

(1v)

(2)
SELECT COUNT (SGRADE). SGRADE
FROM ORGANISATION GROUP BY
SGRADE:

SELECT MIN(DOB), MAX(DOJ) FROM
ORGANISATION;

SELECT NAME, SALARY FROM
ORGANISATION O, GROSSINCOME G
WHERE O.SGRADE = G.SGRADE AND
Q.ECODE<2003;

SELECT SGRADE, SALARY+HRA FROM
GROSSINCOME WIHERE
SGRADE=D002"

State and Verify Distributive Law. Verify using Truth

Table.

@
(10)




Q7.

(b)

. 'r[c]

(d)

(a)
(b)

(c)

()

(e)

Represent the Boolean expression yz+xz with the help
ol NAND gates only. (2)
Obtain simplified form for a Boolean expression. (8)
Flx,y,z,w)=2(1,3.4.5.7.9. 11, 12, 183, 15) using
K Map.

Write SOP form of Function F(x, y z) whose truth
table representation is given below : (1)

—_— e e OO O O R
—_—— 0 O == O O
OO~ 0O —CN
—_0 = O = O DT

1 1
Compare any two Switching techniques. (1)
Which of the following is not a Client Side script; (1)
i) VB Script (i) Java Script
(iil) ASP (iv) PHP
If someone has hacked your Website, to whom you
lodge the Complain? (1)
Expand the following : (1)
(i) GPRS (il CDMA

ABC Sysems Organisation has set up its new center
at Jabalpur for its office and web based activities. It
has 4 blocks of buildings as shown in the diagram
below : 4)

BLOCK D BLOCKC

BLOCK A BLOCKB

(11)




Center to center distance betwéen various blocks

()

(1)

(iii)

(iv)

Block A to Block B 20 m

-

Block B to Block C 250 m

Block C to Block D 50 m

Block A to Block D 180 m

Block B to Block D 125 m

Block A to Block C 90 m

Number of Computers
Block A 25
Block B 50
Block C 150
| BlockD 10

Suggest a cable layout of connections between
the blocks.

Suggest the most suitable place (i.e. block) to
house the server of this organization with a
suitable reason.

Suggest the placement of the following devices
with justification

(a) Repealer (b) Hub/Switch

The organisation is planning to link ifs
[nternational Office situated in Mumbai, which
wired communication link, you will suggest for
a very high speed connectivity?

 Whatis firewall? m
(¢) Give anyone difference between 3G and 4G. (1)

(12)



